Approximate Bayesian Computation analyses performed with DIYABC v 0.7.3
Scripts describing all 27 competing scenarios used in 4 consecutive analyses based on first set of prior distributions of model parameters

ANALYSIS 1 - Question: Invasion of Senegal, its western and eastern parts (groups WEST and EAST)

8 competing scenarios:

scenario 1 [0.125]  (21)                        

Nws Nes Na2 Na3 Na4 Na5 Na1

0 sample 1

0 sample 2

Tws-TDws VarNe 1 NFws

Tws split 1 3 4 Rws

Tes-TDes VarNe 2 NFes

Tes split 2 5 6 Res

Ta2 merge 7 3

Ta3 merge 7 4

Ta4 merge 7 5

Ta5 merge 7 6

scenario 2 [0.125]  (11)                        

Nws Nes Na1

0 sample 1

0 sample 2

Tws-TDws VarNe 1 NFws

Tws merge 3 1

Tes-TDes VarNe 2 NFes

Tes merge 3 2
scenario 3 [0.125]  (20)                        

Nws Nes Nas Na2 Na3 Na1

0 sample 1

0 sample 2

Tws-TDws VarNe 1 NFws

Tws merge 3 1

Tes-TDes VarNe 2 NFes

Tes merge 3 2

Tas-TDas VarNe 3 NFas

Tas split 3 4 5 Ras

Ta2 merge 6 4

Ta3 merge 6 5
scenario 4 [0.125]  (15)                        

Nws Nes Nas

0 sample 1

0 sample 2

Tws-TDws VarNe 1 NFws

Tws merge 3 1

Tes-TDes VarNe 2 NFes

Tes merge 3 2

Tas-TDas VarNe 3 NFas

Tas VarNe 3 Na1
scenario 5 [0.125]  (17)                        

Nws Nes Na2 Na3 Na1

0 sample 1

0 sample 2

Tes-TDes VarNe 2 NFes

Tes merge 1 2

Tes VarNe 1 Nas

Tas-TDas VarNe 1 NFas

Tas split 1 3 4 Ras

Ta2 merge 5 3

Ta3 merge 5 4
scenario 6 [0.125]  (12)                        

Nws Nes

0 sample 1

0 sample 2

Tes-TDes VarNe 2 NFes

Tes merge 1 2

Tes VarNe 1 Nas

Tas-TDas VarNe 1 NFas

Tas VarNe 1 Na1
scenario 7 [0.125]  (17)                        

Nws Nes Na2 Na3 Na1

0 sample 1

0 sample 2

Tws-TDws VarNe 1 NFws

Tws merge 2 1

Tws VarNe 2 Nas

Tas-TDas VarNe 2 NFas

Tas split 2 3 4 Ras

Ta2 merge 5 3

Ta3 merge 5 4
scenario 8 [0.125]  (12)                        

Nws Nes

0 sample 1

0 sample 2

Tws-TDws VarNe 1 NFws

Tws merge 2 1

Tws VarNe 2 Nas

Tas-TDas VarNe 2 NFas

Tas VarNe 2 Na1

Prior distributions of parameters

Nws     UN[100,40000,0,0,1]

Nes     UN[100,40000,0,0,1]

Na2     UN[100,40000,0,0,1]

Na3     UN[100,40000,0,0,1]

Na4     UN[100,40000,0,0,1]

Na5     UN[100,40000,0,0,1]

Na1     UN[100,40000,0,0,1]

Tws     UN[30,350,0,0,1]

TDws     UN[0,10,0,0,1]

NFws     UN[2,100,0,0,1]

Rws     UN[0.100,0.900,0.000,0.000,0.001]

Tes     UN[30,350,0,0,1]

TDes     UN[0,10,0,0,1]

NFes     UN[2,100,0,0,1]

Res     UN[0.100,0.900,0.000,0.000,0.001]

Ta2     UN[351,100000,0,0,1]

Ta3     UN[351,100000,0,0,1]

Ta4     UN[351,100000,0,0,1]

Ta5     UN[351,100000,0,0,1]

Nas     UN[100,40000,0,0,1]

Tas     UN[30,350,0,0,1]

TDas     UN[0,10,0,0,1]

NFas     UN[2,100,0,0,1]

Ras     UN[0.100,0.900,0.000,0.000,0.001]

Tas>Tws

Tas>Tes

GSM

YESNM

MUGAMM

PGAMM

MEANMU     UN[0.00010,0.00100,0.00050,0.00000,0.00001]

GAMMU      GA[0.00001,0.01000,0.00000,2.00000,0.00001]

SNM        GA[0.000000010,0.000000100,0.000000025,2.000000000,0.000000001]

MEANP      UN[0.10,0.30,0.22,0.00,0.01]

GAMP       GA[0.01,0.90,0.00,2.00,0.01]

   2   2   2   2   2   2   2   2   2   2   2   2   2   2

  40  40  40  40  40  40  40  40  40  40  40  40  40  40

Summary statistics

NAL 1 2

HET 1 2

VAR 1 2

MGW 1 2

FST 1&2

LIK 1&2 2&1

N2P 1&2

H2P 1&2

V2P 1&2
********************************************************************************
ANALYSIS 2 - Question: Invasion of central Senegal (group CENTER)
3 competing scenarios:

scenario 1 [0.333333333333333]  (24)                        

Nws Ncs Nes Nas Na2 Na3 Na1

0 sample 1

0 sample 2

0 sample 3

Tcs-TDcs VarNe 2 NFcs

Tcs merge 1 2

Tws-TDws VarNe 1 NFws

Tws merge 4 1

Tes-TDes VarNe 3 NFes

Tes merge 4 3

Tas-TDas VarNe 4 NFas

Tas split 4 5 6 Ras

Ta2 merge 7 5

Ta3 merge 7 6
scenario 2 [0.333333333333333]  (24)                        

Nws Ncs Nes Nas Na2 Na3 Na1

0 sample 1

0 sample 2

0 sample 3

Tcs-TDcs VarNe 2 NFcs

Tcs merge 3 2

Tws-TDws VarNe 1 NFws

Tws merge 4 1

Tes-TDes VarNe 3 NFes

Tes merge 4 3

Tas-TDas VarNe 4 NFas

Tas split 4 5 6 Ras

Ta2 merge 7 5

Ta3 merge 7 6
scenario 3 [0.333333333333333]  (25)                        

Nws Ncs Nes Nas Na2 Na3 Na1

0 sample 1

0 sample 2

0 sample 3

Tcs-TDcs VarNe 2 NFcs

Tcs split 2 1 3 Rcs

Tws-TDws VarNe 1 NFws

Tws merge 4 1

Tes-TDes VarNe 3 NFes

Tes merge 4 3

Tas-TDas VarNe 4 NFas

Tas split 4 5 6 Ras

Ta2 merge 7 5

Ta3 merge 7 6

Prior distributions of parameters

Nws     UN[100,40000,0,0,1]

Ncs     UN[100,40000,0,0,1]

Nes     UN[100,40000,0,0,1]

Nas     UN[100,40000,0,0,1]

Na2     UN[100,40000,0,0,1]

Na3     UN[100,40000,0,0,1]

Na1     UN[100,40000,0,0,1]

Tcs     UN[30,350,0,0,1]

TDcs     UN[0,10,0,0,1]

NFcs     UN[2,100,0,0,1]

Tws     UN[30,350,0,0,1]

TDws     UN[0,10,0,0,1]

NFws     UN[2,100,0,0,1]

Tes     UN[30,350,0,0,1]

TDes     UN[0,10,0,0,1]

NFes     UN[2,100,0,0,1]

Tas     UN[30,350,0,0,1]

TDas     UN[0,10,0,0,1]

NFas     UN[2,100,0,0,1]

Ras     UN[0.100,0.900,0.000,0.000,0.001]

Ta2     UN[350,100000,0,0,1]

Ta3     UN[350,100000,0,0,1]

Rcs     UN[0.100,0.900,0.000,0.000,0.001]

Tas>Tcs

Tas>Tws

Tas>Tes

Tes>Tcs

Tws>Tcs

GSM

YESNM

MUGAMM

PGAMM

MEANMU     UN[0.00010,0.00100,0.00050,0.00000,0.00001]

GAMMU      GA[0.00001,0.01000,0.00000,2.00000,0.00001]

SNM        GA[0.000000010,0.000000100,0.000000025,2.000000000,0.000000001]

MEANP      UN[0.10,0.30,0.22,0.00,0.01]

GAMP       GA[0.01,0.90,0.00,2.00,0.01]

   2   2   2   2   2   2   2   2   2   2   2   2   2   2

  40  40  40  40  40  40  40  40  40  40  40  40  40  40

Summary statistics

NAL 1 2 3

HET 1 2 3

VAR 1 2 3

MGW 1 2 3

FST 1&2 1&3 2&3

LIK 1&2 1&3 2&1 2&3 3&1 3&2

N2P 1&2 1&3 2&3

H2P 1&2 1&3 2&3

V2P 1&2 1&3 2&3

AML 2&1&3

********************************************************************************

ANALYSIS 3 - Question: Invasion of sites near the Niokolo Koba National Park (NKNP group)
6 competing scenarios:

scenario 1 [0.166666666666667]  (29)                        

Nws Ncs Nes Nns Nas Na2 Na3 Na1

0 sample 1

0 sample 2

0 sample 3

0 sample 4

Tns-TDns VarNe 4 NFns

Tns merge 1 4

Tcs-TDcs VarNe 2 NFcs

Tcs split 2 1 3 Rcs

Tws-TDws VarNe 1 NFws

Tws merge 5 1

Tes-TDes VarNe 3 NFes

Tes merge 5 3

Tas-TDas VarNe 5 NFas

Tas split 5 6 7 Ras

Ta2 merge 8 6

Ta3 merge 8 7
scenario 2 [0.166666666666667]  (29)                        

Nws Ncs Nes Nns Nas Na2 Na3 Na1

0 sample 1

0 sample 2

0 sample 3

0 sample 4

Tns-TDns VarNe 4 NFns

Tns merge 3 4

Tcs-TDcs VarNe 2 NFcs

Tcs split 2 1 3 Rcs

Tws-TDws VarNe 1 NFws

Tws merge 5 1

Tes-TDes VarNe 3 NFes

Tes merge 5 3

Tas-TDas VarNe 5 NFas

Tas split 5 6 7 Ras

Ta2 merge 8 6

Ta3 merge 8 7
scenario 3 [0.166666666666667]  (29)                        

Nws Ncs Nes Nns Nas Na2 Na3 Na1

0 sample 1

0 sample 2

0 sample 3

0 sample 4

Tns-TDns VarNe 4 NFns

Tns merge 2 4

Tcs-TDcs VarNe 2 NFcs

Tcs split 2 1 3 Rcs

Tws-TDws VarNe 1 NFws

Tws merge 5 1

Tes-TDes VarNe 3 NFes

Tes merge 5 3

Tas-TDas VarNe 5 NFas

Tas split 5 6 7 Ras

Ta2 merge 8 6

Ta3 merge 8 7
scenario 4 [0.166666666666667]  (30)                        

Nws Ncs Nes Nns Nas Na2 Na3 Na1

0 sample 1

0 sample 2

0 sample 3

0 sample 4

Tns-TDns VarNe 4 NFns

Tns split 4 1 3 Rns

Tcs-TDcs VarNe 2 NFcs

Tcs split 2 1 3 Rcs

Tws-TDws VarNe 1 NFws

Tws merge 5 1

Tes-TDes VarNe 3 NFes

Tes merge 5 3

Tas-TDas VarNe 5 NFas

Tas split 5 6 7 Ras

Ta2 merge 8 6

Ta3 merge 8 7
scenario 5 [0.166666666666667]  (30)                        

Nws Ncs Nes Nns Nas Na2 Na3 Na1

0 sample 1

0 sample 2

0 sample 3

0 sample 4

Tns-TDns VarNe 4 NFns

Tns split 4 1 2 Rns

Tcs-TDcs VarNe 2 NFcs

Tcs split 2 1 3 Rcs

Tws-TDws VarNe 1 NFws

Tws merge 5 1

Tes-TDes VarNe 3 NFes

Tes merge 5 3

Tas-TDas VarNe 5 NFas

Tas split 5 6 7 Ras

Ta2 merge 8 6

Ta3 merge 8 7
scenario 6 [0.166666666666667]  (30)                        

Nws Ncs Nes Nns Nas Na2 Na3 Na1

0 sample 1

0 sample 2

0 sample 3

0 sample 4

Tns-TDns VarNe 4 NFns

Tns split 4 2 3 Rns

Tcs-TDcs VarNe 2 NFcs

Tcs split 2 1 3 Rcs

Tws-TDws VarNe 1 NFws

Tws merge 5 1

Tes-TDes VarNe 3 NFes

Tes merge 5 3

Tas-TDas VarNe 5 NFas

Tas split 5 6 7 Ras

Ta2 merge 8 6

Ta3 merge 8 7

Prior distributions of parameters

Nws     UN[100,40000,0,0,1]

Ncs     UN[100,40000,0,0,1]

Nes     UN[100,40000,0,0,1]

Nns     UN[100,40000,0,0,1]

Nas     UN[100,40000,0,0,1]

Na2     UN[100,40000,0,0,1]

Na3     UN[100,40000,0,0,1]

Na1     UN[100,40000,0,0,1]

Tns     UN[26,60,0,0,1]

TDns     UN[0,10,0,0,1]

NFns     UN[2,100,0,0,1]

Tcs     UN[30,350,0,0,1]

TDcs     UN[0,10,0,0,1]

NFcs     UN[2,100,0,0,1]

Rcs     UN[0.100,0.900,0.000,0.000,0.001]

Tws     UN[30,350,0,0,1]

TDws     UN[0,10,0,0,1]

NFws     UN[2,100,0,0,1]

Tes     UN[30,350,0,0,1]

TDes     UN[0,10,0,0,1]

NFes     UN[2,100,0,0,1]

Tas     UN[30,350,0,0,1]

TDas     UN[0,10,0,0,1]

NFas     UN[2,100,0,0,1]

Ras     UN[0.100,0.900,0.000,0.000,0.001]

Ta2     UN[351,100000,0,0,1]

Ta3     UN[351,100000,0,0,1]

Rns     UN[0.100,0.900,0.000,0.000,0.001]

Tas>Tes

Tas>Tws

Tcs>Tns

Tes>Tcs

Tws>Tcs

GSM

YESNM

MUGAMM

PGAMM

MEANMU     UN[0.00010,0.00100,0.00050,0.00000,0.00001]

GAMMU      GA[0.00001,0.01000,0.00000,2.00000,0.00001]

SNM        GA[0.000000010,0.000000100,0.000000025,2.000000000,0.000000001]

MEANP      UN[0.10,0.30,0.22,0.00,0.01]

GAMP       GA[0.01,0.90,0.00,2.00,0.01]

   2   2   2   2   2   2   2   2   2   2   2   2   2   2

  40  40  40  40  40  40  40  40  40  40  40  40  40  40

Summary statistics

NAL 1 2 3 4

HET 1 2 3 4

VAR 1 2 3 4

MGW 1 2 3 4

FST 1&2 1&3 1&4 2&3 2&4 3&4

LIK 1&2 1&3 1&4 2&1 2&3 2&4 3&1 3&2 3&4 4&1 4&2 4&3

N2P 1&2 1&3 1&4 2&3 2&4 3&4

H2P 1&2 1&3 1&4 2&3 2&4 3&4

V2P 1&2 1&3 1&4 2&3 2&4 3&4

AML 2&1&3 4&1&2 4&1&3 4&2&3

********************************************************************************

ANALYSIS 4 - Question: Invasion of the town of Kédougou (KED group)

10 competing scenarios:
scenario 1 [0.1]  (34)                        

Nws Ncs Nes Nns Nks Nas Na2 Na3 Na1

0 sample 1

0 sample 2

0 sample 3

0 sample 4

0 sample 5

Tks-TDks VarNe 5 NFks

Tks merge 1 5

Tns-TDns VarNe 4 NFns

Tns split 4 2 3 Rns

Tcs-TDcs VarNe 2 NFcs

Tcs split 2 1 3 Rcs

Tws-TDws VarNe 1 NFws

Tws merge 6 1

Tes-TDes VarNe 3 NFes

Tes merge 6 3

Tas-TDas VarNe 6 NFas

Tas split 6 7 8 Ras

Ta2 merge 9 7

Ta3 merge 9 8
scenario 2 [0.1]  (34)                        

Nws Ncs Nes Nns Nks Nas Na2 Na3 Na1

0 sample 1

0 sample 2

0 sample 3

0 sample 4

0 sample 5

Tks-TDks VarNe 5 NFks

Tks merge 2 5

Tns-TDns VarNe 4 NFns

Tns split 4 2 3 Rns

Tcs-TDcs VarNe 2 NFcs

Tcs split 2 1 3 Rcs

Tws-TDws VarNe 1 NFws

Tws merge 6 1

Tes-TDes VarNe 3 NFes

Tes merge 6 3

Tas-TDas VarNe 6 NFas

Tas split 6 7 8 Ras

Ta2 merge 9 7

Ta3 merge 9 8
scenario 3 [0.1]  (34)                        

Nws Ncs Nes Nns Nks Nas Na2 Na3 Na1

0 sample 1

0 sample 2

0 sample 3

0 sample 4

0 sample 5

Tks-TDks VarNe 5 NFks

Tks merge 3 5

Tns-TDns VarNe 4 NFns

Tns split 4 2 3 Rns

Tcs-TDcs VarNe 2 NFcs

Tcs split 2 1 3 Rcs

Tws-TDws VarNe 1 NFws

Tws merge 6 1

Tes-TDes VarNe 3 NFes

Tes merge 6 3

Tas-TDas VarNe 6 NFas

Tas split 6 7 8 Ras

Ta2 merge 9 7

Ta3 merge 9 8
scenario 4 [0.1]  (34)                        

Nws Ncs Nes Nns Nks Nas Na2 Na3 Na1

0 sample 1

0 sample 2

0 sample 3

0 sample 4

0 sample 5

Tks-TDks VarNe 5 NFks

Tks merge 4 5

Tns-TDns VarNe 4 NFns

Tns split 4 2 3 Rns

Tcs-TDcs VarNe 2 NFcs

Tcs split 2 1 3 Rcs

Tws-TDws VarNe 1 NFws

Tws merge 6 1

Tes-TDes VarNe 3 NFes

Tes merge 6 3

Tas-TDas VarNe 6 NFas

Tas split 6 7 8 Ras

Ta2 merge 9 7

Ta3 merge 9 8
scenario 5 [0.1]  (35)                        

Nws Ncs Nes Nns Nks Nas Na2 Na3 Na1

0 sample 1

0 sample 2

0 sample 3

0 sample 4

0 sample 5

Tks-TDks VarNe 5 NFks

Tks split 5 1 2 Rks

Tns-TDns VarNe 4 NFns

Tns split 4 2 3 Rns

Tcs-TDcs VarNe 2 NFcs

Tcs split 2 1 3 Rcs

Tws-TDws VarNe 1 NFws

Tws merge 6 1

Tes-TDes VarNe 3 NFes

Tes merge 6 3

Tas-TDas VarNe 6 NFas

Tas split 6 7 8 Ras

Ta2 merge 9 7

Ta3 merge 9 8
scenario 6 [0.1]  (35)                        

Nws Ncs Nes Nns Nks Nas Na2 Na3 Na1

0 sample 1

0 sample 2

0 sample 3

0 sample 4

0 sample 5

Tks-TDks VarNe 5 NFks

Tks split 5 1 3 Rks

Tns-TDns VarNe 4 NFns

Tns split 4 2 3 Rns

Tcs-TDcs VarNe 2 NFcs

Tcs split 2 1 3 Rcs

Tws-TDws VarNe 1 NFws

Tws merge 6 1

Tes-TDes VarNe 3 NFes

Tes merge 6 3

Tas-TDas VarNe 6 NFas

Tas split 6 7 8 Ras

Ta2 merge 9 7

Ta3 merge 9 8
scenario 7 [0.1]  (35)                        

Nws Ncs Nes Nns Nks Nas Na2 Na3 Na1

0 sample 1

0 sample 2

0 sample 3

0 sample 4

0 sample 5

Tks-TDks VarNe 5 NFks

Tks split 5 1 4 Rks

Tns-TDns VarNe 4 NFns

Tns split 4 2 3 Rns

Tcs-TDcs VarNe 2 NFcs

Tcs split 2 1 3 Rcs

Tws-TDws VarNe 1 NFws

Tws merge 6 1

Tes-TDes VarNe 3 NFes

Tes merge 6 3

Tas-TDas VarNe 6 NFas

Tas split 6 7 8 Ras

Ta2 merge 9 7

Ta3 merge 9 8
scenario 8 [0.1]  (35)                        

Nws Ncs Nes Nns Nks Nas Na2 Na3 Na1

0 sample 1

0 sample 2

0 sample 3

0 sample 4

0 sample 5

Tks-TDks VarNe 5 NFks

Tks split 5 2 3 Rks

Tns-TDns VarNe 4 NFns

Tns split 4 2 3 Rns

Tcs-TDcs VarNe 2 NFcs

Tcs split 2 1 3 Rcs

Tws-TDws VarNe 1 NFws

Tws merge 6 1

Tes-TDes VarNe 3 NFes

Tes merge 6 3

Tas-TDas VarNe 6 NFas

Tas split 6 7 8 Ras

Ta2 merge 9 7

Ta3 merge 9 8
scenario 9 [0.1]  (35)                        

Nws Ncs Nes Nns Nks Nas Na2 Na3 Na1

0 sample 1

0 sample 2

0 sample 3

0 sample 4

0 sample 5

Tks-TDks VarNe 5 NFks

Tks split 5 2 4 Rks

Tns-TDns VarNe 4 NFns

Tns split 4 2 3 Rns

Tcs-TDcs VarNe 2 NFcs

Tcs split 2 1 3 Rcs

Tws-TDws VarNe 1 NFws

Tws merge 6 1

Tes-TDes VarNe 3 NFes

Tes merge 6 3

Tas-TDas VarNe 6 NFas

Tas split 6 7 8 Ras

Ta2 merge 9 7

Ta3 merge 9 8
scenario 10 [0.1]  (35)                        

Nws Ncs Nes Nns Nks Nas Na2 Na3 Na1

0 sample 1

0 sample 2

0 sample 3

0 sample 4

0 sample 5

Tks-TDks VarNe 5 NFks

Tks split 5 3 4 Rks

Tns-TDns VarNe 4 NFns

Tns split 4 2 3 Rns

Tcs-TDcs VarNe 2 NFcs

Tcs split 2 1 3 Rcs

Tws-TDws VarNe 1 NFws

Tws merge 6 1

Tes-TDes VarNe 3 NFes

Tes merge 6 3

Tas-TDas VarNe 6 NFas

Tas split 6 7 8 Ras

Ta2 merge 9 7

Ta3 merge 9 8

Prior distributions of parameters

Nws     UN[100,40000,0,0,1]

Ncs     UN[100,40000,0,0,1]

Nes     UN[100,40000,0,0,1]

Nns     UN[100,40000,0,0,1]

Nks     UN[100,40000,0,0,1]

Nas     UN[100,40000,0,0,1]

Na2     UN[100,40000,0,0,1]

Na3     UN[100,40000,0,0,1]

Na1     UN[100,40000,0,0,1]

Tks     UN[10,25,0,0,1]

TDks     UN[0,10,0,0,1]

NFks     UN[2,100,0,0,1]

Tns     UN[26,60,0,0,1]

TDns     UN[0,10,0,0,1]

NFns     UN[2,100,0,0,1]

Rns     UN[0.100,0.900,0.000,0.000,0.001]

Tcs     UN[30,350,0,0,1]

TDcs     UN[0,10,0,0,1]

NFcs     UN[2,100,0,0,1]

Rcs     UN[0.100,0.900,0.000,0.000,0.001]

Tws     UN[30,350,0,0,1]

TDws     UN[0,10,0,0,1]

NFws     UN[2,100,0,0,1]

Tes     UN[30,350,0,0,1]

TDes     UN[0,10,0,0,1]

NFes     UN[2,100,0,0,1]

Tas     UN[30,350,0,0,1]

TDas     UN[0,10,0,0,1]

NFas     UN[2,100,0,0,1]

Ras     UN[0.100,0.900,0.000,0.000,0.001]

Ta2     UN[350,100000,0,0,1]

Ta3     UN[350,100000,0,0,1]

Rks     UN[0.100,0.900,0.000,0.000,0.001]

Tas>Tws

Tas>Tes

Tws>Tcs

Tes>Tcs

Tcs>Tns

GSM

YESNM

MUGAMM

PGAMM

MEANMU     UN[0.00010,0.00100,0.00050,0.00000,0.00001]

GAMMU      GA[0.00001,0.01000,0.00000,2.00000,0.00001]

SNM        GA[0.000000010,0.000000100,0.000000025,2.000000000,0.000000001]

MEANP      UN[0.10,0.30,0.22,0.00,0.01]

GAMP       GA[0.01,0.90,0.00,2.00,0.01]

   2   2   2   2   2   2   2   2   2   2   2   2   2   2

  40  40  40  40  40  40  40  40  40  40  40  40  40  40

Summary statistics

NAL 1 2 3 4 5

HET 1 2 3 4 5

VAR 1 2 3 4 5

MGW 1 2 3 4 5

FST 1&2 1&3 1&4 1&5 2&3 2&4 2&5 3&4 3&5 4&5

LIK 1&2 1&3 1&4 1&5 2&1 2&3 2&4 2&5 3&1 3&2 3&4 3&5 4&1 4&2 4&3 4&5 5&1 5&2 5&3 5&4

N2P 1&2 1&3 1&4 1&5 2&3 2&4 2&5 3&4 3&5 4&5

H2P 1&2 1&3 1&4 1&5 2&3 2&4 2&5 3&4 3&5 4&5

V2P 1&2 1&3 1&4 1&5 2&3 2&4 2&5 3&4 3&5 4&5

AML 2&1&3 4&1&2 4&1&3 4&2&3 5&1&2 5&1&3 5&1&4 5&2&3 5&2&4 5&3&4

